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P g ki
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(1) lgsin34°16" =1.7505;
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. (1D (124040’; (2) a=34°19";

$i3

(3) a=45°8"; (4) a=45°4¢".

5 lgsin A=1.9284, K= M A A

M AFRKGE A lgsind=1.9284 Y B fn A 2

e 2



58°. WA&E, EXHFER A, BIMIEZM
MR, HREZMEHER”SMA, BNEXLRA
A, 7£0° #n180° [, 15 58° MIEZLMRIMAM, BH
122°, [k, BiR=MBRA A AR 58° & 122°.

2. AR=ARBEMNERETIHR

B2 56 4] 158 W1 J6 PR 1) L = A A 0 3 3 o ok AT B

4 7 978.58in122°,,
BI1 ok b="T Tt i,

g p978.55in122° _978.5 sin 58°
sin39°56 sin 39°56" °

PEB UM 3, 18
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= 2.5696.,

S AC=371.202k).

EEHM=M ADC ,

CD= ACsina =371.2s8in45° = 371.2 x 0.707 1

~262(K),

s J] o



